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11. When we multiply a certain two-digit 11. W9 ¥4 US 3-39) 9 v iy d@n o)
number by the sum of its digits, 405 is TE® IS & g A N 7@ A, 405 W@

achieved. If we multiply the number written 811 81 92 g% 5w 3! & Rufla wu A
in reverse ol of the same digits by the sum foreht € W@ ) gud AT & 9 | o B
of the digits, we get 486. Find the number. tzﬂvﬂmml\mhmmm'
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42. What is the remainder when 51 x 27 x35x 42. W@ 51 x 27 x 35 x 62 x 75 & 100 &
62 x 75 is divided by 100?  UPSCPT 2020 v oo S dwwa s etar @2
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43. The ratio of a two-digit natural number to 43. 31 &1 ¥ UrPfa® Ja@n 1 IS ISl &

a number formed by reversing its digits is 4: Ju2 | &= d@n | U 4: 7 §1 ¥R g

7. The number of such pairs is :  dueni: e K
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83. What is the remainder if 2" is divided by 83. Mmtuﬁzmﬁs%ﬁuﬂh@
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a) 0
b)1
c) 2
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1. What will be the day on 1st January 2011 1. If¢ 1 a3, 2007 &t IAaR 8, o 1
when 1st January 2007 is Sunday ? Sasl, 2011 &1 HiH-971 f&= g 2

a) Monday AR

a)
b) Tuesday b) HIAAR
\c)/ Friday \9/ AR
d) Tuesday | T d  WIEaR
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2. If the day on 21-02-2001 was Sunday. A 2 . 3R 21-02-2001 H! IfAAR 4TI 39
———

couple was married on this date. How many ARG & TP SIS Pl UGl §'§' 4t SrTa

marriage anniversaries would fall on Sunday 10 ﬂ'ﬂ’fj frat Tt ot JrafiRg Idar

in the next 10 years ? S TS 2
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4. The calendar for the year 2007 will be the

same for the year:

a) 2013 \ ; ’I
b) 2016 “ ’I
c) 2017 \§ —-'I
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Calendar

JUEH B8R ?

a) 2013
b) 2016
c) 2017
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Calendar

5. Find out the day on which esh was i 5. 9, 2000 b SYH ﬁ'ﬂ Gl qdigy, ﬁv‘l’ﬂ ﬁ? m
June 2000. . o ﬁ % DT ST 3T YT #-
- / l“{ o ¥ B

l. It is a date, which is also a pe}ect number l. 9% WT‘“’&E %. Sl TP “ﬁ‘l"fm it %|
Il. The date next to his birthday is a Prime number. Il TP Sl Bl Tl aRiE P U

2,3, S5 ;’-},II,TB,WI'?“@T?'

A. Only statement | is sufficient to answer the

question

, , %)uammﬁésmmmlmél
B. Only statement Il is sufficient to answer the
i . X by wei 1 IR 33 ¥ R1g Faw v 1 w@f@ 2|
C. Both the statements are necessary to answer th
question XQ) W B IR 33 F Forg Gt et amawa §)

D. Both of the statements are not sufficient to \}Ygﬂ FYA UY HT IOV éﬁ ) ﬁq g =|'€f ?l

answer the question.
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